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1. Prove that the given relation holds for all real matrices A and B if the expression is defined.

(AB)T = BT A"

Solution :
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2. Determine whether the vector b is in the span of the vectors v;. If so, write b into the linear
combination form.

p.s. Please solve the problem with the corresponding augmented matrix. Also mark the row-
echlon form and reduced row-echlon form of the augmented matrix.

Answer: b=_ 35 01+ -14 0y 4+ 0 -3

. 3 0 2 -1
b= 10 7U_i = -1 ) _é = |1 ) _C_;) = 2
3 1 1 -3
Solution :
0 2 -1 3 1 0 =25 1.5
augmented matrix: |—1 1 2 0f, reduced row-echlon form: |0 1 —0.5 1.5

1 1 -3 3 00 O 0
Yes! the vector b is in the span of the vectors vj.

b=15 071505+ 0 -0

octave:1> A=[0 2 -1 3;-1 1 2 0;1 1 -3 3]

A =
0 -1 3
-1 1 2 0
1 -3 3

octave:2> rref(A)

ans =
1.0000 0 -2.5000 1.5000
0 1.0000 -0.5000 1.5000
0 0 0 0
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